




� %NWVEJ�2WOR�-KV�
� ��������
� &KHY\����/�
 ��������
�

I N S T A L L A T I O N  I N S T R U C T I O N S  
 
 NOTE: Suction hose to pump must be a wire braid hose; minimum 1" I.D. for 7 & 9 

GPM pumps, 1-1/4" I.D. for 12 & 17 GPM pumps.  Installations with smaller suction 
hoses will void the pump warranty. 

 
Refer to Fig. 2 for the following: 
 
 1. Locate ABS control module on inner fender on driver’s side.  Remove two OEM bolts from engine side 

of ABS control module (location E).  These bolts will not be used again.  Loosen two bolts at outer 
side of ABS module (location F). 

 
 2. Place .625" spacer (18) between ABS module mounting plate and the fender bracket at location E.  

Thread M8 x 35 bolt (17) through plate and into fender bracket.  Tighten all bolts. 
 
Refer to Fig. 1 for the following: 
�
 3. Disconnect battery. 
  
 4. Mount pump bracket (1) to air conditioner/power steering bracket using an M10 x 90 metric bolt (5) at 

Location A, an 10 x 70 metric bolt (7) at Location B, and M10 x 30 metric bolts (6) at Locations C and 
D. 

 
 5. Mount idler pulley (2) to mounting boss on pump bracket with M10mm Torx head shoulder bolt (8). 
 
 6. Attach pump (3) to back of pump plate using two 3/8 x 1¼ bolts (10), 3/8 lock washers (11), and 3/8 

flat washers (12). 
 
 7. Bolt clutch coil (4) onto front of bracket using flange bolts supplied with clutch.  Bolt clutch pulley 

onto pump shaft using bolt and washer provided with clutch. 
 
 8. Put on the belt (14) as shown in Fig. 3. 
 
 9.  Connect battery. 
 
10.  Run the engine and check for any clearance or alignment problems.  Adjust as needed. 

'HZ(]H�


